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SURREBUTTAL TESTIMONY 

OF 

JOHN J. SPANOS 

Case No. ER-2012-0175

Q. Please state your name and business address. 1 

A. John J. Spanos, 207 Senate Avenue, Camp Hill, Pennsylvania, 17011. 2 

Q. On whose behalf are you testifying? 3 

A. I am testifying on behalf of KCP&L Greater Missouri Operations Company (“GMO” or 4 

the “Company”) for St. Joseph Light & Power (“L&P”) and Missouri Public Service 5 

(“MPS”) territories. 6 

Q. Are you the same John J. Spanos who pre-filed Rebuttal Testimony in this matter? 7 

A. Yes, I am. 8 

Q. What is the purpose of your Surrebuttal Testimony? 9 

A. The purpose of this surrebuttal testimony is to address the rebuttal testimony of Arthur 10 

W. Rice of the Regulatory Review Division Utility Services of the Missouri Public 11 

Service Commission on final issues related to the approved implementation of general 12 

plant amortization. 13 

Q. What are the key differences between your position and Mr. Rice’s? 14 

A. Generally, the main issue is the continuation of approved general plant amortization 15 

accounting practice which will drastically simplify the record keeping of a few accounts 16 

that have a small asset value.  However, this one issue has three components which need 17 

to be addressed.  These components are as follows: 18 
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 The appropriate unrecovered reserve amount which will be recovered separately 1 

from standard rates. 2 

 The many possible reasons why a reserve imbalance could occur. 3 

 The methodology utilized for GMO is commonly used by other utilities across the 4 

United States. 5 

Q. Has Mr. Rice in his rebuttal testimony properly identified all the possible reasons 6 

that regulatory depreciation reserves may become deficient? 7 

A. No.  Mr. Rice has only identified the following three reasons as the only possible reasons 8 

for reserve deficiency: 9 

 The Company failing to properly record depreciation of plant still in service. 10 

 The depreciation analyses or record of retirement history used for projections was 11 

in some way defective. 12 

 Unexpected events occurred resulting in retirements earlier than forecast. 13 

Q. What other reasons are appropriate or even more common than those identified by 14 

Mr. Rice? 15 

A. Mr. Rice identified three reasons as the only possible reasons; however, there are actually 16 

several other reasons which are more common.  Some of the other primary reasons are as 17 

follows: 18 

 The life characteristics of the assets have changed. 19 

 The types of assets within an account are different.  Thus, an asset class is not 20 

perfectly homogeneous. 21 

 The changes in cost of removal or gross salvage as a percentage of the associated 22 

retirement. 23 

 Each asset within an account has a unique service life yet there is only one life for 24 

all assets.  Thus there is dispersion. 25 
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Q. Please explain how non-homogeneous asset classes result in the same life 1 

characteristics but produce a reserve imbalance. 2 

A. I will use an account with 10 units.  There are eight of the units with a value of $1,000 3 

and two of the units with a value of $4,000.  In Scenario 1, each asset survives for 10 4 

years so the average life is clearly 10 years with a rate of 10%.  In Scenario 2, the eight 5 

units with a value of $1,000 have an eight year life and the two units with a value of 6 

$4,000 have a 16-year life.  The dollar weighted average life in Scenario 2 is also 10 7 

years with a 10% rate.  In Scenario 1, the reserve after 10 years is perfectly aligned with 8 

the recovery, as after 10 years the reserve and plant are equal and no reserve imbalance 9 

exists.  In Scenario 2, after year 10 the eight units with an eight year life were under 10 

recovered by 20% when retired.  The remaining two units which will last 16 years or an 11 

additional 6 years from year 10 have already been fully recovered but will continue to 12 

accrue at 10% for the next six years.  The chart below shows the recovery pattern of both 13 

scenarios which illustrates how assets with the same average life can produce different 14 

recovery patterns. 15 
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 Scenario 1  Scenario 2 

 
Year 

Original 
Cost 

Annual 
Accrual 

Book 
Reserve 

 Original 
Cost 

Annual 
Accrual 

Book 
Reserve 

1 16,000 1,600 1,600 16,000 1,600 1,600 
2 16,000 1,600 3,200 16,000 1,600 3,200 
3 16,000 1,600 4,800 16,000 1,600 4,800 
4 16,000 1,600 6,400 16,000 1,600 6,400 
5 16,000 1,600 8,000 16,000 1,600 8,000 
6 16,000 1,600 9,600 16,000 1,600 9,600 
7 16,000 1,600 11,200 16,000 1,600 11,200 
8 16,000 1,600 12,800 16,000 1,600 12,800 
9 16,000 1,600 14,400 8,000 800    5,600*   

10 16,000 1,600 16,000 8,000 800 6,400 
11    8,000 800 7,200 
12    8,000 800 8,000 
13    8,000 800 8,800 
14    8,000 800 9,600 
15    8,000 800 10,400 
16    8,000 800 11,200 

* Reflects $8,000 retirement at beginning of year 9.  

Q. How can cost of removal or gross salvage produce a reserve imbalance? 1 

A. Cost of removal and gross salvage are components of the reserve.  Cost of removal and 2 

gross salvage components combined are referred to as net salvage.  If the net salvage 3 

estimate for the account is 10%, then any asset when retired does not achieve a 10% net 4 

salvage percent of the asset retired, then there is a reserve imbalance.  The net salvage 5 

percent is an estimate, so almost every retirement will produce an imbalance in the 6 

reserve. 7 

Q. Do many asset classes have retirement dispersion and variable net salvage costs per 8 

retirement? 9 

A. Absolutely.  This is the basis of group depreciation and the imperfect recovery of 10 

estimates. 11 
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Q. Can you illustrate how the life characteristics of an account can change? 1 

A. Yes.  I will illustrate the life characteristic changes that have occurred within Account 2 

397.00, Communication Equipment.  The assets in this account have evolved from 3 

telephone equipment, microwave equipment, cables, radios, batteries, towers, etc. to the 4 

more technologically advanced assets such as SCADA, cellular phones, microprocessors, 5 

etc.  Therefore the majority of the dollars in this account are replaced over a 10-15 year 6 

period of time and the most dominant force of retirement is technological change or 7 

obsolescence. 8 

Q. Do any of these issues exist when general plant amortization is utilized? 9 

A. No.  Once the reserve is aligned with the new accounting practice, there is no reason a 10 

reserve imbalance will occur nor will any of the issues Mr. Rice addresses exist. 11 

Q. Is there any reason to conduct physical inventories if general plant amortization is 12 

utilized? 13 

A. No.  Physical inventories are extremely time consuming and costly for the Company with 14 

very little benefit.  The amount of time and cost expended to conduct the physical 15 

inventory would not be justified when general plant amortization eliminates the need for 16 

these activities and insures a full and constant recovery pattern. 17 

Q. Do you agree with Mr. Rice’s Unrecovered Reserve for General Plant of $28.6 18 

million? 19 

A. No.  The $28.6 million does not properly establish the reserve for the assets still in 20 

service based on the theoretical reserve. 21 
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Q. Can you discuss reasons why Mr. Rice’s $28.6M unrecovered reserve amount is 1 

inaccurate? 2 

A. Yes.  There are three primary flaws in Mr. Rice’s calculation that established the $28.6M 3 

unrecovered reserve amount.  First, Mr. Rice establishes his theoretical reserve amount 4 

for each vintage based on general plant amortization which sets all vintages older than the 5 

amortization period to be equal to the original cost.  Second, Mr. Rice assumes all assets 6 

within a vintage are placed in service at the beginning of the year which overstates the 7 

theoretical reserve as well.  Therefore, both of these calculation assumptions overstate the 8 

theoretical reserve and in turn increase his unrecovered reserve amount to $28.6M.  9 

Finally, Mr. Rice’s treatment of Account 119.300 does not properly reflect the 10 

appropriate recovery of the $18M accumulated depreciation for the ECORP assets 11 

because it does not reflect the recovery through depreciation rates.  The $18M for 12 

Account 119.300 was not collected in rates and therefore, not including this amount for 13 

Missouri jurisdiction is inappropriate for full recovery.  Consequently, Mr. Rice moving 14 

the $18M into Account 108 is only part of the process. 15 

Q. Have you conducted a calculation that more appropriately establishes the 16 

unrecovered reserve amount for GMO as of December 31, 2011? 17 

A. Yes.  The calculation as of December 31, 2011 sets forth an unrecovered reserve amount 18 

for general plant amortized accounts to be $22,260,246.  This amount reflects an under 19 

recovery of $996,562 for L&P, an over recovery of $994,677 for MPS and an under 20 

recovery of $22,258,361 for ECORP which includes $18,820,503 for Account 119.300.  21 

These amounts are based on the approved life estimates in the most recent Case No. ER-22 

2010-0356.  The summarized results and detailed calculations are set forth in Appendix A 23 
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of this testimony.  Based on the agreed upon amortization periods from Case No. ER-1 

2010-0356, the assets are segregated into two groups per account. 2 

  The first group are assets that are older than the amortization period which are 3 

categorized as fully accrued.  These assets will be retired at year’s end so the book 4 

reserve should be set equal to the original cost of the asset to insure full recovery, no 5 

more, no less. 6 

  The second group are assets that are within the amortization period which need to 7 

be recovered equally for each year the asset is in service.  This requires the book reserve 8 

to be set at the level which insures full recovery of each vintage while still on the books.  9 

Thus, an asset that is 10 years old should be 50% recovered if the amortization period is 10 

20 years.  11 

Q. How should the unrecovered reserve be treated? 12 

A. Once the book reserve for the two groups within an account have been established to 13 

insure a constant recovery based on the amortization period, the remaining reserve or 14 

reserve deficiency that has been recorded historically in the accumulated reserve account 15 

for the asset class is then separately recovered over a reasonable period of time.  In 16 

Appendix A, I have established 10 years for the unrecovered reserve as that is a 17 

reasonable and common representation of time to recover this change of accounting 18 

practice. As shown in Appendix A the total unrecovered amount of $22,260,246 would 19 

be recovered at an annual amount of $2,226,025 over a ten year period.  This annual 20 

amount needs to be allocated between MPS and L&P based on the allocation factors. 21 



8 
 

Q. Has the methodology been utilized and adopted by other utilities in other 1 

jurisdictions? 2 

A. Yes.  General Plant amortization has been utilized for 20 years by some utilities and the 3 

unrecovered reserve amount for amortized accounts has been implemented over the last 4 

5-7 years.  The added implementation of the separate reserve adjustment was included to 5 

insure full recovery and a depreciation rate by account that is consistent with the 6 

amortization period. 7 

Q. While Appendix A is the preferred methodology, is there another alternative which 8 

is an improvement over Mr. Rice’s methodology? 9 

A. There is another widely used practice by many utilities which includes general plant 10 

amortization but does not require an unrecovered reserve adjustment.  The calculations 11 

for each GMO company are set forth in Appendix B.  This methodology segregates the 12 

assets into two groups.  The first group are the assets which are older than the 13 

amortization period and have a reserve equal to the original cost since these assets are 14 

scheduled to be retired at year’s end.  The second group are all remaining assets which 15 

have an age within the amortization period.  The remaining reserve for the account is 16 

allocated to the asset level based on age.  Based on these factors, the remaining life 17 

depreciation rate is calculated based on the plant to reserve rates in order to achieve full 18 

recovery, no more, no less. 19 

Q. Why have you not utilized this methodology as your primary recommendation for 20 

general plant amortization? 21 

A. Although this methodology eliminates the need for a special unrecovered reserve 22 

amortization it does require a more frequent depreciation update because the rates are not 23 

consistent with the amortization period. 24 
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Q. Is the alternative methodology still a major improvement over Mr. Rice’s 1 

methodology? 2 

A. Absolutely.  The methodology utilized in Appendix B is designed to rationally and 3 

systematically recover all of the remaining investment over the remaining life.  Mr. 4 

Rice’s methodology is a random reserve adjustment that will require additional 5 

adjustments over time. 6 

Q. Are there any other significant differences between your two methods and the 7 

method proposed by Mr. Rice? 8 

A. Yes.  The most significant difference is that my methods are designed to correct the 9 

reserve deficiency once, without the need to readdress this issue again.  In Mr. Rice’s 10 

approach, a review of the reserve imbalance will need to be conducted during each case.  11 

This would create a lot of unnecessary effort especially when Mr. Rice’s method does not 12 

uniformly improve the reserve deficiency over time. 13 

Q. Are there additional reasons why Mr. Rice’s methodology is incorrect and should 14 

not be accepted? 15 

A. Yes.  Mr. Rice’s proposal associated with the Aquila consolidations and relocations 16 

offers the Company no ability to recover the costs he has identified.  Company witness 17 

Mr. Ives provided in his rebuttal testimony reasons why Mr. Rice’s proposed 18 

methodology should not be accepted. 19 

Q. Does that conclude your testimony? 20 

A. Yes, it does. 21 
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